

$$-r \sin^2 \alpha + 1$$

$$\textcircled{1} \cos^2 \alpha = r \sin^2 \alpha - 1 \rightarrow r \sin^2 \alpha + r \sin^2 \alpha - r = 0 \rightarrow \sin^2 \alpha + r \sin^2 \alpha - r = 0 \rightarrow (\sin^2 \alpha + r)(\sin^2 \alpha - 1) = 0$$

$$\sin^2 \alpha = -r \times \times \times \times \times$$

$$\sin \alpha = \frac{1}{r} \sqrt{r} \rightarrow \sin \alpha = \sin \frac{\pi}{4} \begin{cases} \textcircled{1} \alpha = 2k\pi + \frac{\pi}{4} \\ \textcircled{2} \alpha = 2k\pi + \frac{3\pi}{4} \end{cases}$$

$$\textcircled{2} \frac{\sin^2 \alpha - \cos^2 \alpha}{\sin^2 \alpha - \cos^2 \alpha} = \sin^2 \alpha \rightarrow -\cos^2 \alpha = \sin^2 \alpha \rightarrow \textcircled{1} r\alpha - \frac{\pi}{r} = 2k\pi + \frac{\pi}{2} \rightarrow -r\alpha = 2k\pi + \frac{\pi}{r}$$

$$\rightarrow \alpha = -k\pi - \frac{\pi}{r}$$

$$\textcircled{2} r\alpha - \frac{\pi}{r} = 2k\pi + \pi - \frac{\pi}{2} \rightarrow 4\alpha = 2k\pi + \frac{3\pi}{r}$$

$$\rightarrow \alpha = \frac{k\pi}{r} + \frac{\pi}{r}$$

$$\textcircled{3} \frac{\cos \alpha}{\sin \alpha} (r \cos \alpha + 1) = \frac{1}{\sin \alpha} \rightarrow r \cos^2 \alpha + \cos \alpha - 1 = 0 \rightarrow \cos \alpha = -1 \text{ أو } \cos \alpha = \frac{1}{r} \rightarrow \alpha = 2k\pi \pm \frac{\pi}{4}$$

$$\rightarrow r \sin^2 \alpha - \sin^2 \alpha \cos^2 \alpha + \cos^2 \alpha = r \rightarrow \sin^2 \alpha - \sin^2 \alpha \cos^2 \alpha = 1 \rightarrow \sin^2 \alpha - 1 = \sin^2 \alpha \cos^2 \alpha \rightarrow \sin^2 \alpha (-1) = \sin^2 \alpha \cos^2 \alpha$$

$$\rightarrow \alpha = k\pi \pm \frac{\pi}{r}$$

$$\textcircled{4} \cos\left(\frac{\pi}{2} + \alpha\right) \cos\left(\frac{\pi}{2} - \alpha\right) = \frac{1}{r} \rightarrow \frac{1}{r} \sin\left(\frac{\pi}{r} + \alpha\right) \frac{1}{r} \rightarrow \cos r\alpha = \frac{1}{r}$$

$$\cos r\alpha = \cos \frac{\pi}{r} \rightarrow r\alpha = 2k\pi \pm \frac{\pi}{r} \rightarrow \alpha = k\pi \pm \frac{\pi}{r}$$

$$\rightarrow \cos\left(r\alpha - \frac{\pi}{r}\right) = -\sin r\alpha \rightarrow \textcircled{1} r\alpha - \frac{\pi}{r} = 2k\pi + \frac{\pi}{r} + \pi \text{ أو } \cos\left(\frac{\pi}{r} + r\alpha\right) \textcircled{2} r\alpha - \frac{\pi}{r} = 2k\pi - \frac{\pi}{r} - \pi \rightarrow \alpha = \frac{k\pi}{r} - \frac{\pi}{r}$$

$$\textcircled{5} \frac{\sin \alpha + \sin \alpha}{\sin \alpha} - \sin^2 \alpha = \cos^2 \alpha \rightarrow \sin^2 \alpha + \cos^2 \alpha = 1 \rightarrow \sin^2 \alpha + \sin^2 \alpha = \sin^2 \alpha \rightarrow \sin^2 \alpha = 0$$

$$\sin \alpha = \sin k \rightarrow \textcircled{1} \alpha = 2k\pi + \pi \rightarrow \frac{k\pi}{r} + \frac{\pi}{r}$$

$$\textcircled{2} \alpha = 2k\pi + \pi \rightarrow \alpha = \frac{k\pi}{r}$$

$$\textcircled{4} \frac{\sin \frac{\pi}{r}}{1 + \cos \frac{\pi}{r}} = \frac{1}{\sin \frac{\pi}{r}} + \cot \frac{\pi}{r} \rightarrow \frac{\sin \frac{\pi}{r}}{1 + \cos \frac{\pi}{r}} = \frac{1 + \cos \frac{2\pi}{r}}{\sin \frac{\pi}{r}} \rightarrow \cancel{\sin \frac{\pi}{r}} = \cos^2 \frac{\pi}{r} + \cancel{\cos \frac{\pi}{r}} + \cancel{\cos \frac{\pi}{r}} + \sin^2 \frac{\pi}{r}$$

$$\cancel{\cos^2 \frac{\pi}{r}} + \cancel{\cos \frac{\pi}{r}} + \cancel{\cos \frac{\pi}{r}} + \cancel{\sin^2 \frac{\pi}{r}} = 0 \rightarrow \cancel{\cos \frac{\pi}{r}} (\cos \frac{\pi}{r} + 1) = 0$$

$$\rightarrow \cos \frac{\pi}{r} = -1 \quad \text{OJZ}$$

$$\rightarrow \cancel{\cos \frac{\pi}{r}} = -1 \rightarrow \cos \frac{\pi}{r} = \cos \frac{\pi}{r} \rightarrow \frac{\pi}{r} = \cancel{\pi} k \pm \frac{\pi}{r} \rightarrow \pi = \cancel{\pi} k \pm \pi$$

$$\text{الحل: } \{0, \pi\}$$

$$\textcircled{5} \cos^2 x - \sin^2 x \cos^2 x = 1 \rightarrow \cos^2 x + \sin^2 x \rightarrow \sin^2 x (1 + \cos^2 x) = 0$$

$\textcircled{1} \sin^2 x = 0 \rightarrow \sin x = 0$
 $\textcircled{2} \cos^2 x = 1 \rightarrow \cos x = \pm 1$

$$\textcircled{1} \rightarrow x = \pi k + \pi, x = \pi k + \pi - \pi$$

$$\textcircled{2} \rightarrow \pi = \pi k \pm \pi \rightarrow \frac{\pi k}{2} \pm \frac{\pi}{2} = \pi$$

$$\textcircled{6} \frac{1 + \tan x}{1 + \tan x} = \tan^2 x \rightarrow \frac{\cos x - \sin x}{\cos x} = \frac{\sin^2 x}{\cos^2 x} \Rightarrow \cos^2 x \cos x - \cos^2 x \sin x = \sin^2 x \cos x + \sin^2 x \sin x$$

$$\rightarrow \cos^2 x \cos x - \sin^2 x \sin x = \cos^2 x \sin x + \sin^2 x \cos x \Rightarrow \sin x = \cos(x - \frac{\pi}{4})$$

$$\sin x = \cos(x - \frac{\pi}{4}) \Rightarrow \sin x = \sin(\frac{\pi}{2} - (x - \frac{\pi}{4})) \Rightarrow \sin x = \sin(\frac{3\pi}{4} - x)$$

$$\textcircled{7} \sqrt{1 + \sin^2 x} = \sqrt{2} \cos x \rightarrow \cos^2 x + \sin^2 x = \sqrt{2} \cos^2 x - \sqrt{2} \sin^2 x$$

$$(\cos + \sin)^2 \rightarrow \sin x (\sqrt{2} \sin x + 1) = \cos x (\sqrt{2} \cos x - 1)$$

$$\left\{ \frac{\pi}{2}, \frac{\pi}{2} \right\} \text{ : الحل}$$

$$\textcircled{10} \text{ أ) } \sin^2 x - \cos^2 x = 1 \rightarrow \sin^2 x - \cos^2 x = 1 \rightarrow -\cos^2 x = 1 \rightarrow \cos^2 x = -1 \rightarrow \cos x = \pm i \rightarrow \pi = \pi k \pm \pi \rightarrow x = \pi k \pm \frac{\pi}{2}$$

$$\text{ب) } \sin^2 x - \cos^2 x = -1 \xrightarrow{\text{OJZ}} \cos^2 x = 1 \rightarrow \cos x = 1 \rightarrow x = \pi k \pm \pi$$

$$\xrightarrow{\text{OJZ}} \sin^2 x = 1 \rightarrow \sin x = \pm 1 \rightarrow x = \pi k + \frac{\pi}{2} \leq \pi k - \frac{\pi}{2}$$

$$\left\{ \frac{\pi}{2}, \frac{3\pi}{2} \right\} \text{ : الحل}$$